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Those words were said only — 7157Y% RAWART ROYT V9 017
where he considered the recipient’s hand significant

OVERVIEW

The & na states that if 737 °27 would have said only the 17 that 278 5w 17
7"¥721% n2wn, we might have thought that it applies only when there was a
specific intention to place the object on the hand', however where there
would be no specific intention to place it there, but rather it just happened to
land on the hand, I would say that it is not considered a 7"¥7 0pn, therefore
7111 221 teaches us the case of 17720 YW 17° 702 01 yon P71, where there was
no intention, it just happened to land in his hand, nevertheless he is 27,
because 7"¥72 12 72Wwn 07X YW 17> even when there is no intention. NHOIN
explains why it is necessary to teach us the former case that 72w 278 YW 17°
7"972 19 where there was intention, even if we already know it in a case
where there was no intention.

nooIN asks:

— 295954 NYNN RYY 70 N1SY IINN ON)
And if you will say; let him say just this case of 2w 17> T2 nn yon pr
17721, where there was no specific intention that it land y71°2n 5w 17° 7303, and

he would not have to say the previous 1’7, that '7 %y 13 12 a2wn o v 17,
because I will know it already from the case of 17°2n %W 17> 732 1 yon P71, where there
was no specific intention, and still it is considered a "7 0p», and certainly where there is
an intention, so why make both statements.

mooIN answers:

— ND N9PY 220D DAN 71 DY 715 NAYN NNIN PPIYD NPIT NININR MNT 9D v
And one can say; that if 1311 °27 would not have said explicitly that 5w 17°
7"¥72 1% n2wn 07X and would have only said the 17 of 2w 17 732 1) von P
1721, I would have thought that only concerning a nm7 is a hand
considered as a 7"yT 011, since that case is only discussing regarding
receiving an object in one’s hand, but in regards to 77°pP» I may have

!'See Ao 1 1"K ®9X 71"7 2,7 77 'O
* See ‘Thinking it over’ # 2.
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thought that the hand is not considered a *7"y7 Dpn, therefore 7 *27 has to say
explicitly that 7"v72 Y2 72wn 078 9w 17 in all cases whether 77°py or 7m3n [and the case of
17°21 YW 7 02 AN voen o, lets us know that even when it’s not intentional, it is still
considered a "7 D1pPR].

SUMMARY

The statement 7"¥72 12 72w 07X YW 17, teaches us that this applies both by
amIm 77°py, and the 17 of 17°an YW 17 TIN2 A1 yon PO, teaches us that it
applies even if there was no specific intent to place it on the hand.

THINKING IT OVER
1. Why do we assume that the statement of 17°2n 5w 17 T2 nn yon P
means that there was no intent that it land 17°217 5w 17722

2. mo0in asks that 713m° »27 should not have said the 1°7 of 27X YW 17> 1% 72WN
7"973.* How would we know (from the case of 1171 %W 17> 7302 111 yon p7
2n) that the reason he is 211 is because 7"¥72 12 72Wwn Q7R W 17°; we may
think that 7371 21 is of the opinion that a '7 21 is not required at all?!’

3. How may we differentiate between the two types of statements said by 29
1m?

3 See Xn 1 1"7 QW '0IM "I N7 RAPTI 2,7 KA
* See footnote # 2.
3 See DNAX *10 , 2717 WY ,2"%7 P 0"
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